~20% — 4y — 6] RS Fatoler



mjn

cro=—1 4w, U2

,a—b+c 9

azx® + bx + ¢ 221 &

ol A2y

TR
~

J
K

Fol2t.(

S

.;L



y=—3(x —2)(x —4) o] 2N HAgkS Fstefet.



4. OoIARF y =1 fax+2 9 HEHo] 2 A o, A a o e FSkeiEh



4y = aa?+bote o =3 D, Mg —4 S A (1, 2
& v ol W a b c 9 e






| = 54 A, B, C7F A ¢ B Aol9] 72]& 10km, 578

g 24 9ol e 3 5
B, C Ato]9] A-lE 4km , 33 A, C Ato]9] 72l 14km 7} =7 Lhsts]
UTh FEZ ESH B8l A Algol vET o, +E8E 7P
A7 Eoldd BE ZAS ZTA B oA T A Zog duph} Hoj
A M oF sh=A] Fatofet, (B, & 342 3 A, B, C &34



8. Aol {x|0<z <3} L, 5y =—(22"—4x—3)* —5(22% — 4+
1) 411 ¢ RS M, &S m ol & o, % of 712 aoll

AN BA



ojattr y = ax® + br + ¢ = x =2 4 W, HFgko] -2 o|t}. o] k]
T b Al 3 AARES AUA] 2w, o O Fol 2 4 e 7P 2
445 ool



2U2] =
® a> —Z

+

5}

br +c=x =204 A7 3
o, ¢ 2] Fke] Hel=?

@aé—% o)
® a>-3



sholat

.;L



L)
1

S

=

sholat

.;L



= *%$272z+5 o] e me} Kofo] Zal

Y
=tk ol W a + b+ ¢ o] S FoHH?

®

DO | Ot



14.



15.

AEPE 910 F A A(4, 1), B(1, —2) & A4 y =22 919
tjstel AP + BD- 9] H4gte Fatolal.






